| ap | eloH 2202/01/02 ‘NOIDvy08v13 3d YHO34 G0/0L/90LNIA4SO
SOAQVNYYO OHAYWVQ,SINT 3SOr "¥a
NOTOOYTIT(
A 9 AI.L, et i o -
7
ﬂ } 02TVHO IAWS 13a ¥OLO3¥Ia
JOSIWA | ﬁ BSUC 1 UOS A S0}921109 3jusaWId|eUOZ.] UOS ‘SBJoU SNS A mo._m_u:w:_“mmmovSmm S0| anb sowele|29p pepJaA J193p ap ejsajoud oleg,,
. L% 2 E adl
96°166'298'S $0°£9°C05°L2 Y0'SYS‘8v9‘LT 00°2£5°115°SE 000 00°£S°1LS°SE 0LlSV9 13a TvLOL
000 000 000 000 000 000 Sa.I0LBJUE SB3|BOSH SOIIDISfE 8p SOpNapy
000 000 000 000 000 000 eoueq e| ap salopeloye A saiopnap e sokode o epnap ‘ossiouBUl 0}SOD)
000 000 000 000 000 000 soldiojunw A seajelapa) sepepius e sauoiedioed
000 000 000 000 000 000 opezi|esepa4 O)ses
(lesepa4 oulsiqoo) opezijesapa Ojses) ap sewelbold
000 000 000 000 000 000 wo:o_wcmn 9P BINjonJssal A UQISISAUl Bp Sopuoj e mm:o_omtoa<
000 000 000 000 000 000 UQIOBZ||Ige}S® 9p SOpUO) B sauooeuody
000 000 000 000 000 000 |e100s pepunbas e| e sauoloeuody
000 000 000 000 000 000 sauoloe|ignl A sauoisuad
sauooebiiqo
000 000 000 000 000 000 S9|einjeN salisesaq
000 000 000 000 000 000 [BUOIOIPLNI UQION|OSBI 8P OjUSIWIdWND 8p SBUOIEBIIqO
sosiwoidwo)
000 000 000 000 000 000 seuslyy sauooeladQ
0,'80€°1L61 06'68'208 0€ZLL's08 00'18¥'966 000 00°'181'966 uonsab e| ap ojusiwelofew [e A ealjgnd ugiouny e| e ofody
81'695v€8"| 20'88Z'9LL'S 612£9°LEL'S 19'902'995"/ 000 19'902'996°L [euoNSU eloUSIDYS e Jelofow eled A ouelsandnsaid 0sa00.d e ohody
oAody ap A soapessiuiwpy
000 000 000 000 000 000 uoIsiaAul ap sojoahold
000 000 000 000 000 000 S02y10adsy
000 000 000 000 000 000 (leJapa4 ouseiqog sjuswedlun) sepeuly seziand se| ap sauoioun
000 000 000 000 000 000 uoisiaadns A ugioe|nbay
GT'€S.L'/6L 69'€08°,96 G/°002'0L6 00'¥S¥'891L°L 000 00'¥SP'89L'L ojuswoy A ugroowolq
v.L'8gy 1L €0°505'€82 v, 6.¥'v8C 00'150'c.2 000 00'160'€/2 sealiqnd seaijod ap ugioen|eAs A ojusiwinbas ‘ugesue|d
000 000 000 000 000 000 $02I1|qNd Sauaig ap UQISIN0Id
€CT'19L°16E'T 10'802°1EL'ZL 01'€59'e€2'2L £E'YL8'Y8S VL 000 €EV1L8'P8S YL $021|dNd SOIDIAIBS 8p UgloBISald
sauolouny se| ap ouadwasag
000 000 000 000 000 000 solpisqng sol0
¥0'829'662'1 €°€EV'109'2 96°106'229'2 00'0£5'226'8 000 00°0£5'226'8 uoioeladQ op se|bey e sojelng
soidiounpy A SEeAleISPa S8pepliug 0 OpeAlld A [B100S J0}0aS SOIpISqns
sewelboid
{r-t)=9 S v (z+1)=¢ z i
i 0avovd 0QvON3AIa 0av2IId0W 5 mmwn%%wm__mmm 0av=0NdY o
SO0s3y93a
€202 30 3¥9N31Ld3s 3a o€ v O¥3N3 3d | 13a 600€ ODTVHO

VILLVINVEO 0¥ VIMODI1VO ¥0d OLSYD



